
Compatible Model

Optional Accessories

Installation Instruction Diagram

s

Dimensions

Adapter Plate

The following items are included in this package.

• 3 Machine Screws M4x10
• 3 Machine Screws M4x8

Side ViewFront View

59PLATE 

Package Contents

Installation Guide

CEILING

JUNCTION BASE SPONGE

JUNCTION BOX ASSEMBLY

BODY OUTER COVER SPECO

JUNCTION BASE ADAPTOR

VANDAL DOME BASE ASSEMBLY

VANDAL DOME BODY ASSEMBLY

TAPPING SCREW 4X25, TH, SUS, 4EA

MACHINE SCREW M4X8, FH, BLK, 3EA

MACHINE SCREW M4X10, BLK, 3EA

1-1. Install junction box onto the ceiling by using the screws provided.

CVCJBD

Dome Junction Box• HT5940H
• HT5935H
• HT5940K
• HTINT59K

200 New Highway, Amityville NY 11701
800.645.5516 / www.specotech.com

Rev. 03/01/2014


